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OStringU D00 00000000000000A0 class STR{
public static void main(String args[]){ String s1=new String(). String
s2=new String("String 2"). char chars[]={a, ,s,t,r,i,n,g}. String
s3=new String(chars). String s4=new String(chars,2,6). byte
bytes[]={0,1,2,3,4,5,6,7,8,9}. StringBuffer sb=new StringBuffer(s3).
String sb=new String(sb). System.out.printin("The String No.1 is "
s1). System.out.printin("The String No.2 is " 52).
System.out.printin("The String No.3 is " s3).
System.out.printin("The String No.4 is " s4).
System.out.printin("The String No.5is " s5). } } A The String No.1 is
The String No.2 is String 2 The String No.3 is a string The String
No.4 is string The String No.5 is a string B The String No.1is The
String No.2 is String 2 The String No.3 is a string The String No.4 is
tring The String No.5 is a string C The String No.1 is The String No.2
Is String 2 The String No.3 is a string The String No.4 is strin The
StringNoSisastringDO OO0 O OOA400000000O
OO0O00000 inti=9.switch (i) { default:
System.out.printin("default"). case 0: System.out.printin("zero").
break. case 1: System.out.printin("one"). case 2:



System.out.printin("two"). } A default B default, zero C error default
clause not defined D no output displayed (1 (1 B [ [ [J 00 [ O [
oo ooooooooooon
Jdododododododououououoooon)
10 00 O 0O O O : class Test{ private int m. public static void fun()
{//somecode..}} 000000 0OmOOOfunQUOOO?A
[1 O private int m [J [ protected int m BLJ [ private intm [ [
public intm C O private int m O [ static int m DU [ private int
mUOO intmO:C200 0000 OO O public void
example(){...}0 U O O O O AO public void example( int m){...} B
I public int example(){...} CLI public void example2(){...} DI
public intexample (intm, floatf){..} O :AO D30 0O OO OO O
(1 OJ : public class Base{ int w, X, y ,z. public Base(int a,int b) { x=a.
y=Db. } public Base(int a, int b, int ¢, int d) {// assignment x=a, y=Db
w=d.z=c.}} 0 0O OO O //assignment x=a, y=b 0 0O O 0O O O
OO0000000 AO Base(a,b). Bl x=a, y=b. ClI x=a. y=Db.
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